< PERERFA R % idk > FH3048
BRI P R e M R S T R A
R 5 3% i 2 O MERE L2 B8 32 S A 0 0
<R O — B >
SRR R I ot L IR ) s
IR IRAE L IR R IEIES I 2 FH G B
i B 1 R OV 0 0 0 0 0 - -
L 0 0 0 1 200 66.7 83.9
T B 0 0 0 4 25,140 110.9 104.9
AR g 0 0 0 5 67 54.5 56.7
U WUk ER Y — 0 0 0 0 0 I 61.4
KB A AL E 0 0 0 0 0 - 100.0
R 0 0 0 0 0 HeP Eou
R A 0 0 0 0 0 - Ky
TH K ENE AT A% 4 0 0 0 3 55,000 110.0 120.0
FIERH kg e R E S5 0 0 0 6 417,000 129.9 120.2
TH K K O K BN A% s D R 2w 0 0 0 8 7,240 212.9 153.9
TH KB FHTE K SEFA) 0 0 0 6 63,132 69.2 161.3
FEERAATV 77— 0 0 0 0 0 - -
HH I 0 0 0 0 0 - -

e B~ BB 0 0 46 88 83.0 90.1
e Al BE AR 2 1 4 379 84.6 114.4
e . MEFR65% A 50D 0 0 4 800 105.3 87.2
HETRRR EFRE5LL T DB D 0 0 2 220 84.6 132.4

o A0EEZDHD 1 0 0 14 25,218 122.5 111.8
e 40LL F OB D 0 0 0 11 24,390 123.6 109.5
TEBA AR —A GEv g 0 0 0 0 - -
(ESi 0 0 0 6,000 171.4 100.2
PSR Y S 0 0 0 0 | E5Pk ER
A 0 0 0 37 88,096 140.0 106.7
N L 0 0 0 28 15,870 247.3 162.2
WPORREEA s m ok R 0 0 0 0 0 - o
[Al—JdR 0 0 0 3 310 7,750.0 184.2
R ¢t i(}jﬁ'ﬁ 0 0 10 6 2,315 91.3 78.8
ZAEH% 0 0 8 4 2,282 92.1 76.6
7 — VKBS E 0 0 0 4 27,952 96.6 42.2
FERRTEBE AR~ H B E 0 0 13 15 166.7 138.1
FEkVE B B B 7 7 100.0 177.8
A BA AN L A 0 1 1 1 | 100.0
HR—AL A — 0 0 0 1 3 | Hep 133.3
THBG AL D 0 0 0 7 170 72.3 126.0
THBG ke B 0 0 0 15 3,695 117.3 123.0
o B AEAT 25 AR SRR SRR
ORI | BRER mawe B
SRR g O IE 10 20 100.0 64.7
F— =R — VR 5 5 71.4 100.0

AT EE D BIRME S TOME | DB 1L, RATAER]H Lol O RiTAE SR G He e [ ) LR FEVE LT
KA DIRFAE S TOME ) Db DI, KATAERH e M O AR R Gz [y LRV L ET,
KATARBE K OV A BE O UAEE K3 TOfiEl | OB OV, XFRTAE AL e e O RITAFE R R LA T — | L RFEWLE T,

SENSIHBIR 7 OB R 7 A B TR G R g % T 24 1 2B TOfE 112, B A EBEAR L 7 O FHE bR 7 o TR ARG R dE 5 2 To 17 T 24k I E M FNETIEL TV E
7+, (FRk304E11 H 20 HETIE)

CZFERMM(PRT101)>

1/2

H A BIE =



SER% 3048 A

BIASE | RS LA UG B AP
BT BIARHE | BAAEGR | B SETE | R
AR [GELE fRARE S (KAE AR % FLA HG) | B3
i X A 0 0 2 28 37,823 143.5 114.8
s sn=n FHH A~V RO A B AL 0 0 0 51 6,575 111.2 106.5
FE B A e
LR 2 0 4 87 117,227 106.6 85.1
P = B KR 0 0 0 0 - -
R 0 0 0 0 - -
WA E e 0 0 0 0 0 - -
SEEMEL B Kk 0 0 1 12 3,400 107.9 110.3
251 KA 0 0 0 10 2,020 86.1 78.2
RN kAR S JRFR A 25 kA 0 0 0 385 91.7 121.4
N VN 0 0 0 0 0 - B
Vv 0 0 0 29 10,934 111.7 118.8
- q:ﬁﬂ% - ﬁ%ﬁ%z}%’g‘ E%ﬁ% % Eﬁuu nq:f
YA E S AN ¥ w " SEETI NONETL
? e BRI | g oy U AT
FRNTE KRS BRI — AL A B DR 0 0 8 24,446 45.2 106.0
RIS Pt et VL e T e i
R KRR 5% Rk (EAEIEE (R HEAE L IE)J(EHEE ) E;#fﬁt )
T BE LG FH A v kB 0 0 0 7 8,640 119.0 77.1
— OB | WsEHE | meczmE | mEs E
reE R R | polEiE | MR | dEIRR | g oty T T
ORIy RS2 NN ATV 7T — i 0 1 0 0 0 0 - -
BB A~y N5 I AT Y s o5 — 34 - HE R 3 0 0 0 12 12 80.0 120.8
VNS -2 - = o A A A R AT
e AR i PIREEA | X o A Gl - — —
FERR eSS GoPRE | pREEC | RUREC | R | g e O HEE
R TEVH P R e 0 0 0 0 17 24,868 137.1 115.6
LRI OZ DDA (IR (AR w0 E;*fﬁf(/)
=Rtk GRK %) 1
=B (2 DO E) 2 2 66.7 91.7
R RE (JEHED Ry 51]45) 0

SRR BE DK IEEEA 08 ) OB DX, *FRTARF A b OV il 3

Al [EHE ) LRV LET,

A EE OARFEMEEL O TOME ] OB DL, S ETAER A e O Bl G b & T8 £ FeV =L ET,
SCATARE 2 VS 4E FE DR AEME S TOfE ) OB D1E, *HAT4E R A b K O RE R GH e A T — ) bR Fo 2L ET,

CZFERMM(PRT101)>

2/2

H A BIE =




